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COMMERCE

( Honours Generic )

Answer the Questions from any one Option.

OPTION-A
Paper : COM-HG-3016
( Business Statistics )
' OPTION-B
Paper : COM-HG-3026
( Operations Research in Business) .
Full Marks : 80

Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
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OPTION-A
Paper : COM-HG-3016
( Business Statistics )

Answer Questzon Nos. 1, 2, 3 and any four

from the rest
1, 2, 3 T 27 Teq e wIF I I AT
: Ricwteat 5119 ©e9 e _
1. (A) Select the cdrre"ct answer : 1x4=4 _
ug Bes fdioe a1 3

..{i) The empirical relationship between -

mean, median and mode is
g, TN S T, A AR
T T
(a) Mean-Mode =3 (Mean - MedJan)
TG — IS = 3G — SR
() Mean - Median = 3 (Mcan -Mode)
ARG - TGA = 3 (N ~ IFT)
. (¢) Mode~Mean =3 (Mean -Med1an)
T - W = 3 (Mg - weg)
(d) None of the above
| eoiRy e =W
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(ii) - Standard Dev1at10n (S.D. ) is
... independent on the change of

Wﬁwﬁwﬁﬁ@aewﬁ@ﬁﬁ
a9

(@) origin
TR,

(b) scale

BRRC I

(c) origin and scale
TR, o AR

(d) None of the above
89[RT ¢Ble TZT

(i)~ Wthh of the followmg 1S a unitless
measure ?

o RINCE i) ﬁwﬁs‘jﬂ of 2
(@) Median
g
(b} - Standard beyiation
aifde Roem |
" (c) Mean Deviation
oe Reem :
(d) Coefficient of Variation
o9t @i

Contd.
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(i) If A .and B are two indepencient
ible for
(iv) ::Seor:alfiiu;‘zznr:zm“ © | .events, then P(A/B)=
wﬁ%mmmﬂwm aﬁAWB@mW@’
T ' PA/B)=___| |
(a) weather L . o
R (C) Write True or False : " 1x3=3
(b) social custom LN a3
e R () Mean of the binomial distribution -
(c) festival - | b . is less than variance.
BeR o ' . | f%vma%aammmmawm
(d) Al of the abpve
@5 (AIHE (3 . (ii) Coefﬁment of Standard Deviation
. : . O |
(B) Fill in the blanks : 1x3=3 | s .
R 5 R e | . L
i) The coefficient of corrglaﬁon lies : e Roem ol 2o %.
between -1 and ’
TOER AT -1SE TGO (i) Normal distribution is a
A | ~ continuous distribution.
(i) Variance is denoted by _____- . , . o 35 T @Ry SR 39|
oo 3 3ol '
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2. Answer the following questions 2><.5'= 10
OO HIRT Bex ot ¢

(@) Write two propertles of regression
coefficients.

AT @eliFI 7o «F vl

(b) Distinguish between Parameter and
Statistic.

mwmwm@%M|

(c). Find E(X) for the followmg probability
- distribution of X :

X%ﬁ'ﬁﬁ@“ﬂ@ﬁ@a‘%«m E(X)I W=
fefa =41 ¢

"X 0 1 2 3
"P(X=x) : 1/3 1/2 1/24 /8

(d) State the Factor Reversal Test (FRT) of
Index number..

wm%mMﬁWWmu

(e) Three coms are tossed. Write down the
Sample space.

%Wﬁmwrmﬁwmml |
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3.

Answer any four of the followmg questions :

S5x4=20

Wﬁ@’lﬁtﬁiﬁ?f e Be foral

(a)

(b)

(c)

(d)

Write ‘down any five essential
characteristics of an ideal questionnaire.

G S ARG ReAie Sishr U ey
ot

The regression lines have the equations
3x+2y 6 and 7x+5y=12. F1nd

and 7.
TOIET IR (A FARR T 3+ 2y = 6
W 7x+5y=12. X AF F IGREEE

Descnbe the procedures of testmg a
hypothesis.

o/FF STHIT HOIZ Trad |

What do .you' mean by a “scatter
diagram”? How can the correlation
between two variables be studied with

_the help of this diagram ?

“oFf Ha” o & gae 70 e W
T (2 B A (RS S = 2w
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(e) Determine mode for the following | . (b) Define coefficient of variation. What are

distribution : the special uses of this measure? 4
WqﬁawwﬁcﬁW° : : E , ﬁﬁ‘f@‘ﬁmﬂ@ﬁ‘m&ﬂawm
 Marks, . 15 610 11-15 16-20 2125 26-30 TRETR o R i
() | - : | - |
) S 4 A 5. (a) (i) State the multiplication law of.
. No. of Students : 7 10 16 32 24 18 . probability.
(@ ) . R I W@WWMl
() Write a'note on the advantages of . (i) The probablhty that a person
' sample survey over census method. : travels by plane 1s *1- .and that he
i 2 e T PRI SR travcls by train is 2. Find the

S . 2
o ‘C‘Bm ol : ' T probability of his travelling by
' : . plane or train. Also find the
4. (a) Find Q; and Dy from the following data:  probability of not travelling either

‘ o o 6 by plane or train.

| . | 2+3+1=6
Oei O A_l Q) WiF Dy Sferedt ¢
G NTZ CHTR T A vwﬂz‘m

Class ¢ 510 1015 1520 2025 9530 30-35 3540

. ‘ | m@?ﬁmm‘wwwﬁ@%m,

, | (o¢ (2 WIZA (FRER I FI ASiRor

Frequency : 10 15 25 40 35, 20 5 | | Bfenegl | FOICS: (2 W2 (FINE TN
(93] - - o L TR eIkl Sfeedt
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Interpret the values of the correlation

(b) Define the following terms w1th one | ®) ; i

, example 9+2=4 | ‘ coefficient (r). ) -3

o TR QAT (r) T T I |

B r=0, r=+1, r=-1
i) Mutually exclusive events : |

- . G ” li?ﬁi WA , 7. (a) Given below the bivariate data : 6
| - ) Equally likely events oo w firm otz ¢ |

,'Ww’i‘fm o X: 24 5 6.8 11

| Yy : 18 12 10 8.7 5
6. (a) Write the definition of Spearman’s rank - _ '

coefficien t (i) Fit a regression line of Yon X and

estlmate y when X=5-8.
X7 esig® Y9 TR @ Fef 79 o

_ Find the rank correlation coefficient for -

ff | | the following data of marks obtained ' - ~
| . j . .
. . by 10 students in Mathematics and -|° X=58 & yd T R 7|
. Statistics. : - 2+5=7 (i) Fit a regression line of X on Y and

estimate X when y=9-5.

. | WWW@%’W’@WI -
| ) VS @9ige X T e ({9 Rt 2t =i
10 & R o S SRR REws ik E — 95 T X T ST |
| - Wwﬁmmumﬁwvsmﬁ Y | |
| A | . (b) Explain the concept of Type I error and
| | . : S - Type II error associated with Testing of
Marks in Mathematics : 80 38 95 30 74 8 91 60 66 44 | Statistical hypothesis. 4
| (oS ¢ T ~ | L iR o AT Tl S e o
,; Marks in Statistis ;85 50 92 58 70. 65 8 56 52 46 1 @ﬁwﬁ@mmwﬁam&iﬁmﬁm
. (ﬂﬁwmﬁm(mm) ' ! 1A
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8. (a Write down the mathematical form of
the normal distribution.

What are the properties of normali

- distribution ? . 2+5=7

awa%aamﬁf%mﬁvm
PR 3B AR & & v

(b) A random. variable X follows Poisson
law such that P(X k) =P(X=k+1).
'Find mean and variance. 3

<l AP BoF X @ WA a PR IR
TS P(X=k =P(X=k+1) Z7, NG
oY Sfven ' '

9. '(q)" The following table gives the index
numbers for different groups of items

with their respective weights for the-

year 2005 (base year = 2000)..
TR SRR 2005 5 AR (BReE 2000

- 5) (R W e mﬁamwm |
| ez
- Group ((15) Weight (813) | Group indices (Gﬁh ’IW@..
* Food (4%) 60 © 410
Clothing (R ofimr) | 5 - - 450
Puel (3%). B A I
House Rent (%4 ®rg)) 0 370
Others (BRH) 18 280
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Calcnlate the cost of living Index

number and mterpret the result.
: 4+1=5

y .WWWWWWWWW
» .WQWWWI ;

(b) Mention any ﬁve propertles of bmonual
_distribution. ; 5

| ﬁﬂwa%aa ﬁzasmvm“r eraf@cmzwl

10. '(d) What do you mean by “time senes”?v
“ » . Explain vanous components of time

enes , 6
e E m&t”qﬁ\mﬁsqm?w @ Rfw
TAIXRT FG [ |

| (v) 1;‘r6m the folloWing data find the trend
-+ values by S yearly moving average
method : : 4

wsmwsa@mmmammm
N [ 311 8
ar 1990 1991 1992 1993 1994 1995 1996 1997 ‘1998
(%) | | .
Sales: 36 43 43 3 4 4 N u i
)
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11. (@) ) Explain null hypothesis and
alternative hypothesis.

R aon s Rew aos gt 4

A rand'O{n sample of size 5 is
draWp without replacement from
a ‘ﬁ?u‘te- population consisting of
41 'units. If the population
standard deviation is 625, what
1s the standard error of sample o -

- (i)

mean ?
A | . o 4+2=6
P Bl TN R ot wefmeR
MRS SBl WM aford Mo =, . | -
T I TG @i Rew 625
R, (O Afom Wi Wi B ShRel | |
(b) Write short notes d
: following : on ey ,two gf.gtil: -
- . R Rt 519 55, et frat o ‘
() Sampling error
oo &
(ii) Non-sampling error
(i) Level of significance

ALFe B

4 (Sem-3/CBCSI BST/ORBHG 112/6 14

, . OPTION-B
Paper : COM-HG-3026
( Operations Research _in Business )

1. Answer the following as directed :

’ (a) What is critical p)ath ?
awgell A2 T B2
(b) Define inventory control.
T A4 Fee
(c) What is float of an activity ? |
@il Al e e |
(d) Define extreme point.
e R w1t

(e) Linear pro'gramming problem involving
three or more decision variables is
. (Fill in the blank)

R e ST Py MEe @RS Fuw
Y TGS BRI &S il = |
(AT A2 97 )

() What is optimum solution ?

e TN W e

1x10=10

Contd.
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(9)

Define set up cost.

om @Wﬂmﬁ.

Econormc order quan’uty is
| .!mﬁﬂﬁﬁﬁaﬁmi9ﬁﬁwqtiﬂi
). to detemune an opuﬁum order
quantlty
B T s
@) to minimize total inventory cost
bl R -
@) a lot size problem
I Wﬁsﬁq T

)
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. (lv) An Of th e abOVe

“ﬂﬁavﬂﬁiaﬁﬁn
* (Choose the correct one)

(9% Cewst ffsw 9)
What is ABC analysis 7

ABC R e R

() Define activity.-

ferat st Tt |

!

. b
1

|

2.
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Answer the followmg in short

2x5=10

wwwwm

(@)

()

()

(d)

(e)

Answer any four questions :

' Rireizar s1RG e BT o 8

Defme feasible solutlon.

vmmwﬁvvwﬂﬁhnl

Wnte the d1fference between PERT and
CPM. '

'PERT Wi CPM ¥ WI&s =iy Bt1

Define EOQ.
vmﬁﬁfﬁﬁzﬁma9ﬁ%mﬂavvwnﬁhn|

What are the components of inventory
control ?

3reB9 IR TAmINRR & e

Define holding cost.
qisd g el

5x4=20

(@) Write the nature and charactenshcs of

Operation Research.

wmﬂ@waen@mwae@*ivﬂ¢izﬁﬁ5ﬁ#mu

: (b)' Write the procedure of graphical method.
R oo e B

Contd.
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Solve graphically the linear 'programme 4
problem (LPP) :

WWWWWWW |
RRISICIE S

Ma.Ximize Z= 3x1 + 2.7C2
subject to (5% ANATH)

-2X +x, = 1
x < 2
x1+5c2 <3
X5,XxXy 20

Write the concept of slack variable.

| ‘mwmwmmM|

Write the dlfference between ABC and
VED analysis.

" ABC W% VED ﬁmw sfiefsy il |

Explain the basm steps in PERT/ CPM

: techmques

@0 What are the economic pai‘ameters -

4 (Sem-f}/CBCSJ BST/ORB HG 1/2/(}

AIISWer any four questions :

PERT/CPM ﬂﬁi‘wga mwwwl |

10%x4=40

DIY 2 ag fral ¢

In inventory ?

o TSR @2

18

-
- -

(b)

(c)
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- (@) Descnbe the basic characteristic

of an inventory system.

@maﬁm@wmm
=

Solve by simplex method
e ST e = 8

Z =x +2x5 +3x3
subject to (v$ WW)

10

X +2x +3x3 S
Xptxy £ 095
2. 0

X, X X3

Explain the terms in the context of LPP:
e 2R TETE W@ TOIRE! ell /11 ¢
(). Objective function

e I
(iij Noﬁ—négative constraints

W—m Aol
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(d) () Write about the concepts of

inventory control.

TN FREeR (ReiERe R Bl

(@) A firm is considering replacement

- of a machine whose cost price is
- Rs.17,500 and the scrap value is
Rs.500. The maintenance costs (in
‘Rs.) are found from experience t0
be as follows :

.mwmmmﬁwawﬁmw
ﬁmﬂﬁmmwsoowm
.@WMSOOWIWWW
. Wﬁ?@mwwﬁmﬁmm‘;
2 3 4 5 6 7 8

Mﬂmtenance
cost (Rs): 200 300 3,500 1,200 1,800 2,400 3,300 4500
SR q (m ‘

When should the machine P€
replaced ?

T e S =t B
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(e) A project has the'fo'llolwing time
schedule : : -

m oo ﬁﬁﬁﬂ— ’I‘N’,@ wnza
_ ctmty. 'I‘1me _ Ag:_uwty Time

1-2 4 56 4
-3 1 57 . 8
24 1 68 1
'3_4 1 | 7-8 2
35 6 810 5
49 5  9-10 7

(i) Draw the arrow diagram.

v Boa it

(i) Critical path and its duration.
e M ST TT Tormeie |

(iii) Total float for each activity
efUS! PR M 95 wster |




(g) Write notes'on :
oRifEs

(i) Phases of project management

LPP '

(/ A company has to purchase four items
A, B, C and D for the next year. The
projected demand and unit price
(in Rs.) are as follows :

B I S T T B! S o (i)
A, B, C 9I¥ D &1 IQ aAlK| Aewfo et
bift Ol @ Lo (59) AR 42 ¢ : | -
Item Deman& Unit Price (Rs.)
]} R GFF T (5F)
60,000 3
40,000 9

C 1,200 24
D 5,000 4

If the company want to restrict the total
number of orders to 40 for all the four
items, how many orders should be

placed for each item.

TR @r=ificr SRSt Wiz AR P TG
<1 40 t71 v R AT ASTH! R
IR BN w617 T =igst |

JORB HG 16 23
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